Friday 15th January – Gold Maths Activity. 
First, you will have a number free question and some questions you will need to write worded answers to. Then you will get an 'easy number' version of the problem to solve. Finally, you will get the 'Year 6' version of the problem to solve!

Number free
What do you see? 
What do you notice?
What do you wonder?

A toy shop orders some boxes of marbles. 
Each box contains some bags of marbles.
Each bag contains an amount of marbles.
How many marbles does the shop order in total?

Working out and answer box.






Easy numbersWhat are the key words?
What do you need to find out?
What do you know?
Can you break the task into chunks?
What will you do first?



A toy shop orders 4 boxes of marbles.
Each box contains 6 bags of marbles.
Each bag contains 10 marbles.
How many marbles does the shop order in total?

Working out and answer box.








Yr 6 numbersWhat do you need to find out?
What do you know?
Can you break the task into chunks?
What will you do first?


A toy shop orders 11 boxes of marbles.
Each box contains 6 bags of marbles.
Each bag contains 45 marbles.
How many marbles does the shop order in total?
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Working out and answer box.

